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6.1 Solving Rational Equations

PRACTICE
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-

Directions: Solve each equation. Check for extraneous solutions.

e

RN 4

Yoo = ~10

I R

oo
Yeo —fL/

1 1 5X—6 |
Z)E? T x2+4x + Z+ax) K (K4 \_‘\

OO
| (<) = |+ SX-G
< = éf—§
/bl\,(,-’g
4
£ =

3+ = ol
TARRIGOE 2R
h bl = gl

AR OB
o [

a(Z =+ 2) 301
7 =y S (axD)@aN
T A _1

x ok -

o o~ Gav 16 - b
0 = (errd)len =)
5= (¥ (31

IR iv\'—v/ =0

(Do G

feti) T < = —
SL—cz_c_lz T3 Pee12 J (-9 (cH)

-t
- el =6
) —c 4t u =G
¢ &< =G

- C =
C.._”l

x-1
Gk (D) A 4 (e DD = (e &)
GAloGx Y (XA)X R NGRS C 1¥
O —(x Ad OF 13- = ulm;\ né
(o™ -G% At AT 16z LR ALK A

. %+4 — 2"*2&@&%6«\)

_ Ayl A%
o ok 1L = o ox 4378
Q- —4x 1 =0 20 of =S
1 - 0O At 3
o (Xt =X =) 1=

g (k- Dy =
U =D (XX 06

Sep 11-8:33 PM



PC 6.1 Practice Solutions.notebook

7)%=7+;T0> S f\‘t'\- 3)%-{-;:%6\’1}\( (\(3((,\)
SR = A ey A Ie LDy LOGIO = (30
K < ?T'l‘{ 1o Xy & =ty = LUr
- - - _ Yx
1 T
h M—:oxmié
& So 2L -5%AL) ~
N 1y DX~ 1) =
Y-l 6 *A’SCG
2 CC«\\)LC\’\) 1_%=3 _ X—4 \7 (1. -%)
9) +——=— 10) = o
s cimc«\\ RS
\(C\_ﬂ\ ¥ \CC\X“ - I(\( g} [\/C\ﬂ “,g ()( f X’L
N gxk19) T X
)(’S - ( \A - ¥ ,L{
0.7 L A\ K-S =X 19X -1 )
RS ST
: N o= =8t
50 @b O < C\/\’Lj
1 5‘12"'14“‘24_“_5 - x+2 1 x=6\ (y-4) (x+))
11Q+ a? (C\ g\ u(ﬂzsgx—«l_xz Ix—4  x—4 ¢
ST X 1)0a)
|} g& A\ (e B \
TR - & C»LA
530\ )(\L(C\ L 7(’\1 (
45t 4180 - 1> AL = KoK=
(e v &’Lw 4 =X “jf
(et Lo W) =0 5 - (K¢¢}u><h
e - -
L GO
i
¥alfo
o (17

Sep 11-8:34 PM




